. is wrong ? .
e vanrs Kangr campuignand s own oy
the “Tuzuk-i-Jahangiri’, 18 an important contemporary source
(B) The siege and the conguest of the fort of Nagarkot by Sultan Feroz Shah
Tughlaq is found mentioned in a large number of contemporary and
(©) l:beirl Ite]ﬂlm of the Kangra fort is not available in the ‘Shash
Fateh' Kangra o '
(D) For nearly two hundred years after the subjugation by Akbar, the hill
mchjs& rem?nd tributary to the Mughal rulers
Fqq e B 7 '
(A) Wy whin & g 77 B a0 SR TS T e
um g
(B) Tmaw fd %1 dmedt 79 Fem w1 3= gee fRdaem oes @ s
® FowER am wed wd 8§ foem d _
() "wimy fed" % frn T W e e o W e b
D). Torgt & w2 e 200 7 9 TR T SR W sl (m)
a nmu T T m o
2. Match the following in chronological order :
- List-1 List-11
(Chief Justices of Himachal Menure)
Pradesh High Court) -~ A1\
(@) Justice V. K. Malhotra , :_,»ﬂlﬁ.; 92 20'22-06-1993
(b)  Justice Mrs. Loela Seth | %} LI5DI691 to (4-08-1991
() Justico Bhavani Singh! ')\ () '06.08-1991 to 19-10-1992
(d) Justice SK. Sefh> o) 23.08-1998 10 28.06.1993
Select Whe-soffect thoiced Given below :
@, ®%)
(A) ()" () " ) o)
B @ G G G
€ G G o b
M @ O G
-1 MR -1l W frem Wit .
1l
(R:w : wé (s
ke
(@) =rmiv #. . wegw @  20-10-1992 ¥ 22:06-1993
) m el den ¥ @  1501-1991 ® 04-08-1991
() i warh fiig (@) 06081991 ¥ 19-10-1992
(@) T W % ¥} (iv) 28406-1998 | 28-06-1993
fra % 9% aw wi .
@ ® © @
A @ @ ® gy
® O @ @ g
© @ @ O G
O @ O @ Gy
TB.C



8. What is the percentage of Flora species which are endemic to H"mthll and
nhnmpteﬁatit of the Woestern
(A) B3% (") B8%

©) 99 D) 95%
ﬁmn&nﬂvﬂmﬂuﬂm‘h_mqﬂuﬂﬁ!ﬂ*mm*ﬁ
W Wt R, ww fwoh ufem 8 )
(A) 83% (B) B&%
) 99% D) 95%

4 From a Seismic point of view Himachal Pradesh is considered to be very
sensitive and as per the Seismic Zoning Map of India contained i
IS : 1893 - 1984 Fourth Revision, Himachal :
(A) Falls in zone V and IV (B) Falls in zone III and IV
(C) Falls in Zone I and V (D) Falls in Zone II and [II

mtqﬁmmmiﬁrmmwﬁ.mnmmﬁwm
T AR e R R IR 4 v om & 2

(A) &3 Vam & v (B) &% III a= [V

C) & Iam Vv D) &% 0 = I

5. DMI%ZIM&MMPHMWW?MHM
uﬁﬁleﬁshﬁemma%vnﬁmﬁwmm
mﬂmbmpmﬁvahwmatwmmpm&h?

(A) mwmmﬁﬁmo{mxwmﬂumwm
Act, 1953

(B) mwmmmmmm_lm
(C) The Himachal Pradesh Language Bill, 19592

(D) mﬂmmmmuﬂwmlm

mmmimmmmw%m“m

Himalayan Flors 7

At 3 s
mmmammmq“:{:?mwﬁ
wmmw‘iﬁmﬂﬂ&m -
m;hmﬁnmmﬂﬁhq,mw ! 58
(C) femram wen wra fam, 1952 :

M) fearem @& w7 § &0 ¥ @R, 1959

: N-HIN-1-D 3
TB.C. : BC-24-1L8 PTO.



tement :
. ¢ . incorrect st .
{;ﬂom the i ntains of Kailash and Khaskar opposite Chini village hm’“
ou ;
Th::‘ character. Kailash i8 belioved to be peopled by the soyjs of the
sacre
d:ad and Khaskar to be the abode of “ghiy”

(B) “Sri Khand", (18,626 feet) in the Pandrabis “Pargana” has a go|q imagy
of Shiva on its summit 0 Which devotion is paid by burning 4 eup of
“Charas” in front of it

(C) The ‘Wazir' Ran Bahadur Singh of Bushahar princely state gaip,q

considerable notoriety and he attempted to set himself Up ag gy

independent Chieftain in Dodra Kawar

“Jatra” is the name given %0 a religioyg festival, where the images deifies
are taken out in decorated ‘rathe’, and carried in procession men ¢ d

Women form a circle round them, advance and sing
TR FH T T F

(A) mm*mmmmmmmmmmma
mmﬁmmwmhm%mt
B) savz (18,626 W) T2y hﬂﬁqaa!amﬁﬁaﬁmaﬁm

tﬁm‘-mmmmmmmt
© Tw farm 3wk ;

(D)

D) Akbar
mwm*mmm«aﬁmw - tm fsm

| Wl weam ¥
ﬁmtmﬂm, B i JPR
o i B § 9 Wmﬁwm%’ﬂmtm

i B) g
(C) el D) s
T-B.C. H BC'“-LSN*HIN*M

<



8. Choose the correct statement :
(1)  In Himachal Pradesh, about 60 percent of tota
(2)  Sirmaur digtrict receives the higheat rainfall fol

| cultivated area is ratinfod
lﬂﬂ"ﬂd by L‘hnmhu, K‘.ngr.

and Mandi 4 () ae e
(A) Both (1) and (2) are correct  (B) Both (1) - . orrect
(C) Only (1) is correct (D) Only (2) is corT
T Wy ﬂ"—'ﬂ : '
rq ai fefaa #

(1) forem @ # 5@ pf A gfy w1 60% ¥ ‘
(2) Ao fod 8 wad afyw awl B 8w, wimE 3 WE FEO: A

4
(A) A 1) aw (2) W ¥ @) @l (1) am (2) e E
(C) Haw (1) W& & @) waa (2) wé ¥

9. Arrange the following districts of Himachal Pradesh in ascending order in
terms of their contribution in fruit production (2020-21) :
(1) Shimla
(2) Mandi
(3) Kullu
(4) Kinnaur
(A) (1), (2), 3), (4) (B) (1), (4), (2), (3)
(C) (4), (2), 3), () (D) 4), (3), (2), (1)
feram B9 H v A 2020-21 F eR % sger P el B 5@ wee oen
(1) Temen
(2) =
@) |
4) fF=R
(A) (1), (2), (3), 4) B) (1), 1), (2), (3)
© ), @), @), (1) ™ @), ), ), (1)

10. According to Periodic Labour Force Survey (PLFS) 2021-22, the unemployment
rate in Himachal Pradesh stood at :

(A) 3 percent B) 4, o
(C) 5 percent M) g =
smafus o9 @@ wdgw (PLFS) 2021-22 ¥ 3w fewraren
2 Ww F Jdemd @ e
(A) 3 wfawm (B) 4

T.B.C. : BC-24-LSN-HIN-1—--D b

P.T.O.



11,

12,

13,

14,

15.

16.

17.

19.

7B.C. : BC-24LSN-HINg_py

il ith the correct optio,
jons 11=12 1 Fill in the blanks wi :
Directions for quest

J Ihir foll e the Ch!il‘.
albir fell ... ®) by
(A from ,
(D) in
(C) off
Y 11157

One should do ... _

1 (B) his
- (D) always
(€  their alway

Directions for questions 13-14 ¢ In gy question select the a

Word that is opposite in meaning to the underlined word.
Ajay's first lecture in the class was g fiasco.

Ppropriate

(A) Fun (B) Disaster

(€} Success (D) Elation

What people lack in the current timeg is compassion

() Sympathy (B) Empathy

(C) Hardship (D) Indifference

Directions for questions 15-16 : Reaq the following sentence and choose
the part which has error.

(A) The inquiry revealed

(B) that his involvement in

(C) the fraud cases have been
M) more than what was expected

(A) The various consequences of  (B) the decision taken by the
(C) Finance ministry was not (D) foreseen by the officers

Dlrecthnaforquuﬁmﬂ-ls:ﬁllinthablanknwiththemmctone
word substitute,

nemmﬂﬁhdbyﬂmdmﬁsmsidmdwbethe
cures all diseases,
(A) Stoic

............... which

(B) Panaces
(C) Marvel (D) Constraint
One who is a great lover of books is called
(A) Hemophile (B) Brittle
(C) Wise

tor (D) Bibliophile
Drestions estions 19.90 : Given below are some idioms/phrases
followed by fogr alternative meanings to

Tusk each. Choose the correct option.
Herculean -

(A) Postpone, & (B) To restrain

(C) Ea;r task (D) Very difficult

Fair and square ;

(A) Upright

(B) Complete profit

(C) Utter failurg - (D) To apologize



21. mﬁm%wmmﬁmﬁwﬂﬂ*mmmt?

(A) WK, 9@, wE, [, st () waA, P fibert, S,

(©) fmiy, wn, gE, W, gaw ) e, @ T o, SRfen
vy el @ Yaifvn v SR WR @ frofufen g 4 @ A0 E

(A) ¥% WE wE A A W ¥ — ww wF

(B) #% ®Yv @ § — WEW www

(C) T s fim ) IWER Waft — ] WA

(D) Bt firx A A 7@ W FW - HuEE FE
23, ‘'wfeq oman ' AR W FE ¥

(A) =W adue (B) wfery AFTA
(C) wmr wfrs (D) w9
04, Freffas 4 @ fifras oA fadww & 08 T ¥
(A) FHAEH (B) FrgfoarEF
(C) TRwaNH (D) T
25. ‘ol 3 widt @ & wew''-9w T ¥ -
(A) w@ (B) WFH
©) fus D) Ffey
26. ‘®u@EA' H ¥
(A) TH 99 3N TF W (B) U& 399 3R & w=E
(C) & 3vE R w v (D) T Iu@i R A v

97. =T W g | I9gE T ¢
(A) 7% G0 @ o wo frew T (B) W W AT s e ¥
© # A frgvom s@m € O F 9 ww R s wwa
98 '‘mWET -—wAaRF'T @A
(A) Frvaras (B) fvem % ad §
(C) vYAara® D) wH=EEYE
99, ‘ritdt <t R Ui &) awer S WA F gam ooqn)
mmﬁmm'm't:
©) 4 T D) Freears
30. mmﬂ'm'mmmﬁﬂﬂwmt?
mﬁmmﬁ-ﬁmmhmhm%mw
[c}ﬂmﬂm@mt W)Mﬂmmm;gﬁ

. BC-24-LSN-HIN-1—D 7
T.B.C. : BC-24-LS p.T.0.



31,

32,

7 B.C. : BO2LSN-HIN_p

Isati | ‘ in Indig 1
; runisations estimates National Income in ia
Which of the following 0ré

(A) (D) NITI Aayog
(:3" E\{ll'"' try of Finance (D) Central Statistical Organisatio,
1 Ministry
P Wt A WS 3w e a7
(B) sifa smam
(A) ameaitand d .
(C) fa9 warem (D) F=tn wiern wme

Match List I and List 11 and select the correct answer using the codes given
below |

List-I List.11
(Five year plan) (Theme/objective)
(@) Ninth Plan {¥)

High GDP growth with poverty

reduction

(b) Tenth Plan (i) Faster Sustainable and more

inclusive growth
(©) Eleventh Plan (i) Correct historical inequality and
growth

(d) Twelfth Plan (v) Inclusive growth

@ G @© @
A G @ (i) (@)
(B) () () (i) (iv)
© @ @ g (iv)
D ® (i @) (i)

ﬁlﬁvﬁllmmﬁmmﬁﬁﬁﬂaﬁmmm@aﬁm
I |

- Ll : I

(T o) (4t /aiy)
(a) T e (M ?ﬂﬁq‘fﬁmmqﬂﬁﬁm
(b) T A @) TR A
() ™REd dr (iff) iﬁmfm;fmmmmmm

w5

(d) aREE A :

@ © (g d)
B 0 @) g
B) O @ (@ (iv)
€ @ @ ®
) O (@) (i (iv)



33. The Permanent Secretariat of SAARC is located in :
(A) New Delhi

(B) Dhaka
(C) Kathmandu () Colombo
g w1 ol afeaem fogg §
(A ¢ freeh (B) @l
(C) Wiy (D) e
34.  Which one of the following countries is not the member of BIMSTEC 9
(A) Indonesia (B) Thailand
(C) Nepal (D) Bhutan
frafafaa # A sF@ W fawes (BIMSTEC) 1 &9 T8 ¥ 2
(A) sErfo (B) 4iaE
(C) AU (D) WA
35. Statement-I :  The headquarters of BRICS Bank is located in Shanghai,

China.

Statement-I1 Sm::di Arabia, Egypt, the United Arab Emirates, Iran and

Ethiopia joined the ranks of the BRICS group in 2023.

In the light of above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement-I and Statement-II are correct

(B) Both Statement-I and Statement-II are incorrect
(C) Statement-I is correct and Statement-I] is incorrect
(D) Statement-1 is incorrect and Statement-II is correct
o % w1 gee e, W9 f feo 13
FOHI ;I A, frw, SR @ andhm,

AR sffern 2023 #§ fass
w9E # wfwe gu
mmamﬁﬁmwﬁmﬁﬁm
(A) #Fua-1 AN wga-11 o6 wdt & Sl &

(B) wua-1 3 ®-11 & Tem &
() #7-1 98 ¥ 3R wHea-11 Tem ¥
(D) ®9d-1 T ® S waR-11 W g

T B.C. ;: BC-24-LSN-HIN-1—D 9
P.T.O



36,

Belt and Road Initiative (BRI) project is often describeg
91st century silk road, made up of a ‘belt’ of overlang

Statement.1 : The

as @ b
wridors and a maritime ‘road’ of shipping lanes,
¢o

Statement.Il ; China’s ‘maritime silk road’ also pushes its strategi,
advantage at sea. ‘

In the light of above statements, choose the most appropriate answer frop,

the options given below :

(A) Both Statement-1 and Statement-II are correct

(B) Both Statement-1 and Statement-II are incorrect

(C) Statement-I is correct and Statement-II is incorrect

(D)  Statement-1 is incorrect and Statement-II is correct

FTEA-1: A= @ e tfffea (demeamd) fdem B s 214 v =
e g & wu & affm frm ma &, S shade e & i
dr faftm o = ¥t ‘weE' | T E

FNM: R w ey ww wl’ w A swe vt e oW f g

Wm*mﬁﬁﬁQWWﬁﬂmﬁmmﬂﬁﬂ:
(A) F-1 3l wo3-11 36 wdt #

(B) F-1 3R Fw9-11 26 o §
(C) #53-1 ¥ft ¥ ik Fwa-11 7o %
D) F93-1 7w ¥ 3l wm-11 W &

Which one of the following statements is not true about India’s federal polity ?
(A) There is existence of two levels of government

(B) There is distribution of powers between the centre and the states

(C) There is supremacy of the Constitution

(D) Provisions of the Sixth schedule of the Indian Constitution makes special
provisions for the states of Agsam, Meghalaya, Tripura and Mizoram

Freafaf & % W w0 v 9 e T @ W) A e A
(A) 7@ TEN R A wy 3



38, Statement-1 The Lahore SBession of the Congress passed o FeBOlution

declaring Poorna Swaraj to be the Congross ohjectiy, in

1927, _

The Civil Disobedience Movement was started in 1929 with

Dandi March, |

In the light of above statements, choose the most appropriate answer fege,

the options given below

(A)  Both Statement-1 and Statement-11 are correct

(B) Both Statement-1 und Statement-11 are incorrect

(C)  Statement-1 is correct and Statement-11 is incorrect

(D)  Statement-l is incorrect and Statement-11 is correct '

W1 2 1927 A wiE & wie sfdee § yol s W) wIOE S e

FN WU UH wEA wify _

NI . wfr s siEer o) qpeema 1922 # = atd A gf 4

ITF WA d swed d A fey m frwedt § @ wad IwgE Iwoufa

(A) ®9a-1 3l F9-11 9 uwh §

(B) #w9a-1 3l ®vua-11 94 mem
FYA-] |E

Statement-11

(C)

(D) Fg3-1 Te@ ¥ s wwa-11 w6 &
39. The Permanent Settlement was introduced by :
(A) Lord Cornwallis in Bengal and Bihar in 1793
(B) Lord Warren Hastings in Bengal and Awadh in 1765
(C) Lord Dalhousie in Bengal in 1853
(D) Lord Cornwallis in Bengal in 1789
o wwEE wr) e o
(A) 1793 A @ wHafem g ama st faen 4§
(B) 1765 ® @t =nita ¥en g amel s smy §
(C) 1853 # =g zednit gro § ama H
(D) 1789 # @ wHarfem gr ame &
40. Claudia Goldin received Nobel Memorial Prize in Economic e ance Bt
on :
(A) Unorganised Labour in the Manufacturin Sector i
(B) Women historical and contemporary mlazin lah: ‘0 the 19th century
(C) The factors leading to income and human Poverty
labour market
(D) Gendered Division in the Service Sector
gerafea Miesd W anféw faarm & w1 oy 5
(B) mmﬂmaﬂuﬁmmm
tmmmﬂm&ﬁ*ﬂamdﬂm it
(D) W dm A fem smarfta favom
TB.C. : BC-24-LSN-HIN-1—D 11



41 Statement.l 1 The Prime Minister ‘Indj, Tochade’ vision aims at making

India the fastest BTOWIng innovation economy in the world.
Statement-Il :  The Global Partnership oy

Artificial Intelligence Summit,
2023 was hosted in Dejp;

the options given below
(A) Both Statement-l and Statemeng.]| are correct
lBj BOlh Smt@ment[ ﬂnd Slﬂlemeht-u m jnmm

(C) Statement is correct and Statement.]j ;5 incorrect
D) Statement-I is incorrect and Sta

tement.I1 i oorrect

L W R e RECR ko R
8 T TV ety

w311 WﬁmﬂammwmvaﬁRMﬁm
fet 4 %1 w )

mm@mﬁﬁﬁzmﬁWﬁammmﬁ:

W) w1 3 w11 3 o 3

B) F-1 it FR-11 3 e 8

© w196 ¥ o 3111 e

D) %1 R & s 311 7 4

42 Which ane of the policies has not beep initiated by the NDA government

headed by Prime Minister Narendry Modi ?

(A) Start-up India

(B) Atal Innovation Mission

(C) Setting up of National Innovation Coungil

(D) RKVY-RAFTAR

mﬁwm%mmmmmmmwﬁm;
() wram e

(D) sa-Tem

43 In which country BAPS Swaminmyan Mandir was ingugurated by Prime
Minister Narendra Mog; i Pebruary 2024 ?
(A) Maldives (B) United Arab Emirates
(C) Qatar D) Oman
mmﬂmﬂq{;mmmwmmﬁhmm
f@m ™ 7 |
(A) (B ¥R FW
(C) FW EELE

180, B(:.gz;.LSN-Hm-l-In



47.

Among the Emerging Gonerative Al Twhnnlfluiﬂﬁ “f’}hi"h one of the fﬂlltming
tool produce realistio photos based on text input

(A) ChatGPT (B) Dall-E

(©) Jasper (D) Sudowrite ®

o vard eifnfacdl f @ whmn @ 22 T2 e
el dan wom & 7

(A Frsidra () wa-%

() W (D) HEEZ

When did the Parliament pass the Public Examinations ffr"l"-??ﬂﬂhm:! ?fUnfnir
Means) Bill, 2024, which aims to prevent use of 'lqunir means’ in publie
examinations in order to bring ‘greater transparency, f.ﬂ'mﬂ", and *f?d:.hi];ty 7
Also, how many actions amount to using unfair means in public examinations ?
(A) February 9, 2024, 14 Actions (B) February 5, 2024, 9 Actions
(C) February 6, 2024, 15 Actions (D) February 2, 2024, 18 Actions
W Y gt w@m (srfan wnel @) dwwm) faUaE, 2024 W afm fea,
e 3kyw * stfuss et Fegsm sin fereararfram’ =3 % fau weafw s
i'mmﬂi'%maﬁftmt ? wa A, fean sriasal st ofasd
L Al W IAM HEA ® fow B2

(A) 9 wwEd, 2024, 14 FriaEdl (B) 5 wiEdl, 2024, 9 wriamal

(C) 6 wEll, 2024, 15 Friamal (D) 2 wwEdl, 2024, 18 SHans
Which of the follow

ing rivers does not pass through Himachal Pradesh 2
(A) Jhelum ' (B) Ravi
(C) Beas (D) Satluj
Frefefan & e T ferem R @ T T &
:g.; f‘; (B) &
(D s
Statement-] : i } i

Statement-Il : The Kullu Nati dance performs on et workd

life : .
s the Higk raslila with Gopishpexams.in of Lord Krishna and his
e light of above statements, choose th .
the options given below : © Mmost appropriate answer from
(A) Both Statement-1 and Statement-I] are co
(B) Both Statement-I and Statement-IT are ;

i q sifs ae
waq-11 @ m?mqwghm?.?mm 2 iy e
WM*Mﬁﬁmﬂanw?ﬁm *
(A) ®EA-1 Mmoo wh # A Ty o
(B) ®wuA-1 3 HaF-I1 d e § TR IR I
() waA-1 T ¥ S w11 e ¢
) mm-lmtaﬁzm--umt

P.T.O.



E E rﬁ 4

::? PS;E:: {:If;ld Pangi Tehsils of Himachal Pradesh

(B) Shimla Urban Tehsil in Himachal Pradesh
(C) Una Tehsil in Hin'nlljlr::hnl l:’rlﬂt::;alzl ;
ehsil in Himachal Pradeg ‘

{\g:n grngwsfmura:r‘n T, 1961-52, Frefefia wi gro v 2 % W9 F gon .

(A) fewram W & A6 s aht wede

(B) fomrem ww # famen et et

(€) fewrm Wy #§ s wedia

D) ferea wdw & THR AEH : .

In which year and date Himachal Pradesh was organised as Chief

Commissionary ? How many hill Princely states were merged ?

(A) 15 April 1948, 30 princely states

(B) 15 November 1948, 29 princely states

(C) 25 January, 1966, 34 princely states

(D) 18 February, 1948, 31 princely states

&mmﬁwa@mﬁmiﬁmaﬂﬂnmﬂaﬂmﬁmwm ?

ool warg) fard =1 forera foom Ty 2

(A) 15 e 1948, 30 frared

(B) 15 7o« 1948, 29 frarad

(C) 25 wadt, 1966, 34 frargd

(D) 18 W=l 1948, 31 frarad

Statement-I :  Himachal Pradesh Assembly passed the Panchayati Raj
Act, 1994 which was implemented on 23rd April, 1994

Statement-IT ; Ag per Section 97 D of Panchayati Raj (extension) Act in
Himachal Pradesh reservation for the Scheduled Castes
has been provided at Village and Block Level only.

In the ]-ight of ah}"ﬁ"B Et&tﬂmmt!, choose the maost ﬂppmpriate answer from

the options given below -

(A) Both Statement.]

and Statement-II are correct
(B) Both Statement

-I and Statement-II are incorrect
(C) Statement-I is corpect and Statement-II is incorrect
(D) Statement.] ig incorrect and Statement-IT is correct
#w97-1 1 fegrm faum w3 durt T fufrm, 1904 wfta fea
23 ¥hm, 1994 R wmy frm ™ @1
Faa-11 : Mmimm (fawm) sifufam %} g 97 € @ sqEn
wumgmmmmmmmmmmm
I

Wm-l#ﬂm_umm;‘ﬁ
@B Tl M Femgg g o

©) w71 T ¥ o o s
@) 1T ¥ M e



